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Gebiet                       typ. Dimension       typ. Energie          theor. Beschreibung

Weltraumphysik, 
Astronomie                                                                                                                     
                                                                                      
Makroskopische
Physik

Atom- und                    10    cm                    1 eV             
Festkörperphysik                                                          
                                                                                 
Kernphysik                   10     cm                  1 MeV       

Elementar-
teilchenphysik             <10     cm               >1 GeV

    Quantenmechanik,
Quanten-
elektrodynamik
spez. Relativitätstheorie

allg. Relativitätstheorie
klass. Mechanik,
Elektrodynamik

-8

-12

-13
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